
 

 

,yq;if fzf;fPl;Lj; njhopDl;gtpayhsu;fs; fofk; 

 

kl;lk; I guPl;ir – [_iy 2024 

(Level I  Examination – July 2024) 

gupe;Jiuf;fg;gl;l tpilfs;; 

(102) tpahghu fzpjKk; Gs;sptpgutpaYk; (BMS)  

 

 

 

 

 

 

 

 

 

 

 

fy;tp kw;Wk; gapw;rp gpuptpd; ntspaPL 



 

 

102/BMS 1 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

,yq;if fzf;fPl;Lj; njhopDl;gtpayhsu;fs; fofk; 
 

kl;lk; I - [_iy 2024 

(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

 gupe;Jiuf;fg;gl;l tpilfs; 

 

 (nkhj;jk; 40 Gs;spfs;) 
          
tpdh 01 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;  

1.1 (3)  

         (mj;jpahak; -  01) 

             7x2 + 12x + 5 =(7x+5) (x+1)  
     

           (03 Gs;spfs;) 
1.2  (2)   

 

         (mj;jpahak; -  02) 

 
𝑆 = 𝑋(1 + 𝑟)𝑛  x= 500 000, n = 4,    r = 0.12,     

 

 𝑆 = 500 000 × 1.124 
  

            S   = 786 759.68 

 

tl;b   = 786760 – 500 000 = &. 286 760// 
                                  (03 Gs;spfs;) 

1.3  (3) 

 
(mj;jpahak;  - 02) 

 

 𝑃𝑉 =
𝑋(1−(1+𝑟)−𝑛)

𝑟
 

 

 X= 60 000, n = 5,  r = 0.05 

 

 𝑃𝑉 =
60000×(1−1.05−5)

0.05
  

 

 𝑃𝑉 = 259 768.60 ≈ 259 769 

 

  my;yJ 

gFjp A 

 

 

 

 

 



 

 

102/BMS 2 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

  

tUlhe;j ml;ltiziag; gad;gLj;Jk; NghJ 

  𝑃𝑉 = 𝑋 × CDF  

  𝑃𝑉 = 60 000 × 4.329 = 259 740 
 

 (03 Gs;spfs;) 

1.4    (3)    

 

(mj;jpahak; -  07) 

 

 𝑃 =
𝑝1

𝑝0
× 100 

 

𝑄 =
240

160
× 100 = 150% 

 
         (03 Gs;spfs;) 

1.5  (1) 

 
(mj;jpahak; -  05) 
 

 r   =              n ∑ XY -  ∑ X . ∑ Y 

                   √ (n ∑ X2 -  (∑ X)2 ) (n ∑ Y2 -  (∑ Y)2 ) 

          r   =                       1992 - 1612 

                   √     (832 - 676 ) (4832 - 3844 ) 

     =      
380

√156 𝑋 988
 

 (03 Gs;spfs;) 

1.6 (2) 

 (mj;jpahak; -   06) 

6

10
 X 

5

9
  = 

1

3
 

(03 Gs;spfs;) 

1.7 (2)   

   (mj;jpahak; -    02) 

 Pr(X < 1) =0.1 + 0.25 + 0.15      =0.50  

                  (03 Gs;spfs;) 

 



 

 

102/BMS 3 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

1.8 (3) 

 

  (mj;jpahak; -     04) 
    
  L1 = 19.5, ∆1= 19 − 10 = 9 C = 10 

             ∆2= 19 − 12 = 7 
 

𝑀𝑜 = 𝐿𝑖 + [
∆1

∆1 + ∆2
] × 𝐶 

 

 𝑀𝑜 = 19.5 + [
9

9+7
] × 10 

 
             𝑀𝑜 = 25.125 ≅ 25// 

 

             (03 Gs;spfs;) 

1.9 (2) 
 

(mj;jpahak; -     02) 

 
             S = X(1 + r/N)n×N     X= 200,000  r =  0.12,  n = 3 ,N=4 

             S = 200,000 (1 + 0.12/4)3×4      

             S = 200,000 X 1.426 

             S = 285,000 
 (03 Gs;spfs;) 

1.10 (3)                                                                                 

(mj;jpahak; -     07) 

𝑇 = 1 160 + 182.86𝑋 

  𝑇 = 1 160 + 182.86 × 7 = 2440 

                   (03 Gs;spfs;) 

1.11 

(mj;jpahak; -      06 & 07) 

 A    3 

 B    4 

 C    2 

 D    1 

          (04 Gs;spfs;) 

 

 



 

 

102/BMS 4 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

1.12  

(mj;jpahak; -      04 & 05) 

 czT tpLjpf;fhf nryT nra;j njhif  = 36000 X [
𝟏𝟐𝟔

𝟑𝟔𝟎
]  

         = &. 12 600                                                                                                                         

                   (02 Gs;spfs;) 

1.13  

(mj;jpahak; -       01) 

𝑇𝑛  = 𝑎𝑟𝑛−1 

             𝑇𝑛  = 5 × 28 

             𝑇𝑛  =   1280 // 

 (02 Gs;spfs;) 

1.14                        

(mj;jpahak; -       05) 

 jtwhdJ 

                                                                               (01 Gs;spfs;)                                                                                                                                                                      

1.15               

(mj;jpahak; -       07) 

 rhpahdJ                                                              

(01 Gs;spfs;)    

(nkhj;jk;  40 Gs;spfs;) 

  

gFjp A KbT 



 

 

102/BMS 5 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

 

(nkhj;jk; 40 Gs;spfs;) 
 

tpdh 02 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;  
 
 (a) 

       tpw;gid nra;ag;gl;l khztu;fSf;fhd EioTr; rPl;Lf;fspd; vz;zpf;if =  X 

       tpw;gid nra;ag;gl;l nghpatu;fSf;fhd EioTr; rPl;Lf;fspd; vz;zpf;if = Y 

 X + Y  =  830 

 30X + 50Y  =  31,040 

 fzpg;ghid gad;gL;j;Jtjd; %yk;,    X = 523 

                    Y = 307 

          tpw;gid nra;ag;gl;l khztu;fSf;fhd EioTr; rPl;Lf;fspd; vz;zpf;if = 523 

tpw;gid nra;ag;gl;l nghpatu;fSf;fhd EioTr; rPl;Lf;fspd; vz;zpf;if = 307 

 (04 Gs;spfs;) 

(b) 

fspkz; ghidnahd;wpd; %yg;nghUs; fpuaKk; $ypf; fpuaKk; = &. 1500 – 300 

                           = &. 1200 

 fspkz; ghidnahd;wpd; %yg;nghUs; fpuak; = 1200 ×
3

5
  = &. 720.00 

 fspkz; ghidnahd;wpd;; $ypf; fpuak;= 1200 ×
2

5
  = &. 480.00 

  (03 Gs;spfs;) 

(c) 
 

8𝑥 − 11 = 2𝑥 + 25    

6𝑥 = 36    

𝑥 = 6  

 (03 Gs;spfs;) 

 

(nkhj;jk; 10 Gs;spfs;) 

 

 

gFjp B 

 

 

 

 

 



 

 

102/BMS 6 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

 

tpdh 03 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; 

 (a) 

(i) 

𝑇𝑅 = 𝑝 × 𝑞    p = -3q + 1 660 

𝑇𝑅 = (−3q +  1 660) × q 

𝑇𝑅 = −3q2 + 1 660q      

TC= 𝐹𝐶 + 𝑉𝐶    

 TC= 6 000 + q2 + 1 220q 

 TC= q2 + 1 220q + 6 000 

 (03 Gs;spfs;) 

(ii)        

𝑇𝑅 = −3q2 + 1 660q      

  𝑀𝑅 =
𝑑𝑇𝑅

𝑑𝑞
 

 𝑀𝑅 = −6q +  1 660  

 TC= 6 000 + q2 + 1 220q 

  𝑀𝐶 =
𝑑𝑇𝐶

𝑑𝑞
 

 𝑀𝐶 =2q + 1 220 

 
,yhgk; cr;rkilAk; NghJ  

𝑴𝑹 = MC 

−6q +  1 660 =2q + 1 220 

  8q = 440 

  q = 55 

 ,yhgk; cr;rkilAk; Nghjhd myFfspd; vz;zpf;if = 55. 
                                        

                                                                                  (04 Gs;spfs;) 

 
 
 



 

 

102/BMS 7 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

 
 (b) 

TC = 12q2 – 24q + 480,000 

  
𝑑𝑇𝐶

𝑑𝑞
= 24𝑞 − 24 

 

 fpuak; ,optsthFk; NghJ, 

 
𝑑𝑇𝐶

𝑑𝑞
= 0  

 24𝑞 − 24 = 0 

 𝑞 = 1 

   fpuak; ,optsthFk; Nghjhd myFfspd; vz;zpf;if  1000 MFk;. 

(03 Gs;spfs;) 
(nkhj;jk; 10 Gs;spfs;) 

tpdh 04 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; 
 (a) 
 

  

 

 

 

 

∑ X = 395   ∑ Y = 40,   ∑ XY = 2 255 ,   ∑ X2 = 22 325 ,   n = 8 

            b        =                  n ∑ XY -  ∑ X . ∑ Y 

                                 (n ∑ X2 -  (∑ X)2 )  

            b        =          8 X 2,255 – 395 X 40 

                           (8 X 22,325 - 3952 ) 

                    b        =          18,040  - 15,800 

                        (178,600 – 156,025 ) 

                       a       =  Y̅ − bX̅ 

X Y XY X2 

80 8 640 6,400 

50 5 250 2,500 

30 3 90 900 

60 6 360 3,600 

40 4 160 1,600 

45 5 225 2,025 

20 2 40 400 

70 7 490 4,900 

∑ 𝑥 = 395 ∑ 𝑦 = 40 ∑ 𝑥𝑦 = 2,255 ∑ 𝑥2 = 22,325 



 

 

102/BMS 8 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

      a   =  
40

8
− 0.099 ×

395

8
 

       a  =  0.11 

  
,opT tu;f;fKiwr; rkd;ghL   Y = 0.099x - 0.11 

 
(07 Gs;spfs;) 

(b)  

gpujpapLjy;  x = 90                                                                                                                              

   Y = 0.099 - 0.11x 

   Y = 0.099 - 0.11×90,000 

Y = 8,910.11 

Vjph;ghh;f;fg;gl;l ,yhgk;  Rs.8,910  

      (03 Gs;spfs;) 

(nkhj;jk; 10 Gs;spfs;) 

 
tpdh 05 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; 

 (a)        

tFg;ghapil f (x) fx Fx2 

0 -9 7 4.5 31.5 141.75 

10 – 19 9 14.5 130.5 1,892.25 

20 – 29 14 24.5 343 8,403.50 

30 – 39 8 34.5 276 9,522 

40 – 49 7 44.5 311.50 13,861.75 

50 – 59 5 54.5 272.50 14,851.25 

 50  1,365 48,672.50 

 

 ∑ f X = 1 365              ∑ f X2 = 48 672.5                ∑ f =50 

 ,il       =     ∑ fX 

                ∑ f 

     =   1 365 

             50 
                 

                =     27.3            (03 Gs;spfs;) 

 

 



 

 

102/BMS 9 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

 

(b)  

 epak tpyfy;   = √
∑ 𝑓𝑥2

∑ 𝑓
−  [

∑ 𝑓𝑥

∑ 𝑓
]

2

        

 epak tpyfy;  = √
48 672.5

50
−  [

1365

50
]

2

   

                              =15.10  

(04 Gs;spfs;) 

(c) 

                         

 khwy; Fzfk;  =    
𝑠

X̅
× 100                                                     

           =    
15.10

27.3
× 100                

                                                                            = 55.3%                          

           (03 Gs;spfs;) 

(nkhj;jk;  10 Gs;spfs;) 
 
 
 
 

 

 

 

 

 

 

 

 

 

 

  
gFjp B KbT 



 

 

102/BMS 10 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

(nkhj;jk; 20 Gs;spfs;) 
 
tpdh 06 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; 

(A) 

KjyhtJ Kiw  (fzpg;ghidg; gad;gLj;jp)  

 𝑷𝑽 =
𝑿(𝟏−(𝟏+𝒓)−𝒏)

𝒓
 

 𝑿 =
𝑷𝑽×𝒓

(𝟏−(𝟏+𝒓)−𝒏)
 

 PV= 500,000, n = 5,  r = 0.13 

 𝑿 =
𝟓𝟎𝟎,𝟎𝟎𝟎×𝟎.𝟏𝟑

(𝟏−𝟏.𝟏𝟑−𝟓)
   

 𝑿 = 𝟏𝟒𝟐, 𝟏𝟓𝟕. 𝟐𝟕 

tUlhe;j jtizf; fl;lzk; = &. 𝟏𝟒𝟐, 𝟏𝟓𝟕. 𝟐𝟕  

,uz;lhtJ Kiw (CDF ml;ltiziag; gad;gLj;jp)  

 𝑷𝑽 = 𝒙 × 𝑪𝑫𝑭 PV= 500,000,  n= 5 , r = 0.13,  CDF= 3.517 

 𝑿 =
𝑷𝑽

𝑪𝑫𝑭
 

 𝑿 =
𝟓𝟎𝟎,𝟎𝟎𝟎

𝟑.𝟓𝟏𝟕
 

 𝑿 = 𝟏𝟒𝟐, 𝟏𝟔𝟔. 𝟔𝟐 

tUlhe;j jtizf; fl;lzk; = Rs. 𝟏𝟒𝟐, 𝟏𝟔𝟔. 𝟔𝟐  

                                                               (03 Gs;spfs;) 

(B) 

 (a) 
fopTf; fhuzpiag; gad;gLj;jp 

tUlk;  
fhRg;gha;r;ry;  D.F. 

(12%) 

,d;iwa 

ngWkjp     (X) 

,d;iwa 

ngWkjp     (Y) A B 

0 (500,000.00) (500,000.00) 1 (500,000.00) (500,000.00) 

1 150,000.00 190,000.00 0.893 133,950.00 169,670.00 

2 220,000.00 210,000.00 0.797 175,340.00 167370.00 

3 260,000.00 300,000.00 0.712 185,120.00 213,600.00 

NPV       (5,590.00) 50,640.00 

 
 

gFjp c 

 

 

 

 

 



 

 

102/BMS 11 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

rkd;ghl;ilg; gad;gLj;jp 

tUlk;                       0  1                      2                         3 

nraw;wpl;lk;  X    fhRg;gha;r;ry; (500 000)       150 000         220 000      260 000 

nraw;wpl;lk;  Y    fhRg;gha;r;ry; (500 000)       190 000         210 000      300 000 

 

NPV = fhR cl;gha;r;rypd; ,d;iwa ngWkjp -  fhR ntspg;gha;r;rypd; ,d;iwa 
ngWkjp 

  𝑃𝑉 =
𝑋

(1+𝑟)𝑛  r =0.12 𝑃𝑉 =
𝑋

1.12𝑛 

nraw;wpl;lk; X 

 𝑁𝑃𝑉 =
150 000

1.121 +
220 000

1.122 +
 260 000

1.123 − 500 000 

 

 𝑁𝑃𝑉 = 494 374.09 – 500 000  

         =  - 5 625.91// 

 

nraw;wpl;lk; Y 

 𝑁𝑃𝑉 =
190 000

1.121 +
210 000

1.122 +
 300 000

1.123 − 500 000 

 

 𝑁𝑃𝑉 = 550 587.65 – 500 000  

         =  50 587.65// 

(06 Gs;spfs;) 
 
(b)   nraw;wpl;lk; Y ,d; Njwpa ,d;iwa ngWkjpahdJ Neu;f;fzpakhfTk;. nraw;wpl;lk;; X 

,d; NPV vjpu;f;fzpakhfTk; cs;sJ.  

 vdNt nraw;wpl;lk; Y Na rpwe;j KjyPL MFk;. 

                                                               (02 Gs;spfs;) 

(C)                                                                

(a) 
 

tif toq;Feu; X toq;Feu; Y nkhj;jk; 

gOjile;jpUe;jit  2 4 6 
ey;y epiyapy; ,Ue;jit  

 43 51 94 

nkhj;jk; 45 55 100 

 
  

vOkhwhf njupTnra;ag;gLk; xU kpd;Rw;W gOjile;jjhf ,Ug;gjw;fhd epfo;jfT  

 = 
6

100
 = 0.06 // 

(02 marks) 
 



 

 

102/BMS 12 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

(b) 

  

vOkhwhfj; njupTnra;ag;gLk; xU kpd;Rw;W> fk;gdp X ,lkpUe;J thq;fg;gl;ljhfTk; 

mJ gOjile;jjhfTk; ,Ug;gjw;fhd epfo;jfT 

= 
2

45
 = 0.04 // 

(03 Gs;spfs;) 

(D) 

       X : nghjpapd; epiw (g) 

 µ= 540  σ = 48 

        𝑍 =
X  −  µ

σ 
                                    

                   𝑍 =
X  − 540

48
     

     Pr(X < 465) 

 Pr(
X  − 540

48
 <

465  − 540

48
 )   

 Pr(Z < -1.56) = 0.5 – 0.4406 

   = 0.0594 

   =5.9% 

 

 

  0.4406     

 

 

0.5-0.4406                 

 

                                                                                            x     

                                   

                                   465    540 

  z 

          -1.56 0          

 (04 Gs;spfs;) 
(nkhj;jk; 20 Gs;spfs;) 

 

 

 

 

gFjp C KbT 



 

 

102/BMS 13 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

 

Notice:  
 

These answers compiled and issued by the Education and Training Division of AAT Sri Lanka 

constitute part and parcel of study material for AAT students.  

These should be understood as Suggested Answers to question set at AAT Examinations and should 

not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The 

fundamental objective of this publication is to add completeness to its series of study texts, designs 

especially for the benefit of those students who are engaged in self-studies. These are intended to 

assist them with the exploration of the relevant subject matter and further enhance their understanding 

as well as stay relevant in the art of answering questions at examination level. 
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